
1

10

3

13

211

5

4

12

9

14

6

14

815

7

2

ITEM NO. PART NUMBER DESCRIPTION QTY.

1 30017779 Plate for charging station 24V 2AH 
100-240V 1

2 30008961 Beslag for udskift. batt. system 2 polet 
svejst 1

3 RK-DUP3030 Dupsko 30x30 2

4 40001555 Mellemplade 1

5 84030049 Ladestik 50AH rød 1
6 30017777 Bracket for charger 1
7 84020072 Mascot Charger 1
8 30017860 Kabelgennemføring 1
9 30017778 Cover for charging station 1
10 81010193 Screw M6x12 CS A2 DIN 7991 2
11 81020048 Lock nut M6 A2 DIN 985 2
12 81010341 Screw M4x25 CH A2 DIN 912 2
13 81020046 Lock nut M4 A2 DIN 985 2
14 81010515 Screw M4x4 BH A2 ISO 7380 8
15 81010365 Screw M3x12 CH A2 DIN 912 2
16 81250040 Klistermærke, Impact bund 1

REVISIONS

ZONE REV. DESCRIPTION DATE APPROVED

A1 2 Added page 2 with overall measurements 22-11-2022 JDN

R3 Sticker added 28-11-2022 KAS

A

B

C

D

E

F

G

H

1 2 3 4 5 6 7 8

A

B

C

D

E

F

G

1 2 3 4 5

A2
MATERIAL:

Revision:   3

Charging station 24V 2AH  100-240V

30017776
30017776

DRAWN BY: LL    WEIGHT: 5.03 Kg

EP

SS

SHEET 1 OF 2

1:5

DWG NO.

TITLE:

DO NOT SCALE DRAWING
DEBUR AND 
BREAK SHARP 
EDGES

FINISH:
UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

Battery swap
Charging station for swap

21.07.21 Date[yy.mm.dd]:



 5x 6.20 

 0
 

 9
.9

 

 1
31

.4
 

 2
52

.9
 

 2
62

.8
 

 0 
 9.9 

 339.9 
 349.8 

 2
68

.9
 

 0
 

 9
.9

0 

 2
52

.9
0 

 2
27

.9
 

 52.90 

D

E

F

C

1 2 3 4

B

A

321 5

C

D

4 6 7 8

A

B

Date[yy.mm.dd]:21.07.21 

Charging station for swap
Battery swap

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
AND WITH TOLERENCES AFTER
DS/ISO 2768-1 MIDDEL

FINISH: DEBUR AND 
BREAK SHARP 
EDGES

DO NOT SCALE DRAWING

TITLE:

DWG NO.

1:2

SHEET 2 OF 2

SS

EP

WEIGHT: 5.03 Kg DRAWN BY: LL    

30017776
30017776

Charging station 24V 2AH  100-240V

Revision:   3

MATERIAL:

A3


	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View3
	Drawing View4


